
Z40969A2

EZ DUMP - FORK TRUCK ATTMT F89681 

Last Updated: 02/2023

© Valley Craft, Inc. All rights reserved



2

EZ DUMP - FORK TRUCK ATTMT



3

EZ DUMP - FORK TRUCK ATTMT



4

EZ DUMP - FORK TRUCK ATTMT



5

EZ DUMP - FORK TRUCK ATTMT



6

EZ DUMP - FORK TRUCK ATTMT



7

EZ DUMP - FORK TRUCK ATTMT



8

EZ DUMP - FORK TRUCK ATTMT



9

EZ DUMP - FORK TRUCK ATTMT



10

EZ DUMP - FORK TRUCK ATTMT



11

EZ DUMP - FORK TRUCK ATTMT



3

9

2

1
4

14

5

10

LOCATED BEHIND FRAME

17

18

F89681
ISO View and Bill of Materials

ITEM NO. PART NUMBER DESCRIPTION Default/
QTY.

1 Z20760A3 CYL ASSY/100DG SAE 2
2 Z20616A6 FTG 90 6801-4-4 NWO 4
3 Z10526A2 BOLT-TEE 3/4-10 x 4-1/4 2

4 Z11565A0 PIN-CLEVIS 3/4X2 ZP, 1-49/64 
HOLE TO PIN HEAD 6

5 Z10059A8 PIN-COTTER 1/8X1-1/2 6
6 Z11566A1 S-SHLD 5/8-11 W/ 3/4X1/2 SHLD 1
7 Z10562A9 NUT-HEX FULL 5/8-11 1
8 Z10395A1 WASHER-3/4 FLAT USS 1
9 F65770 EZD-LOWER FRAME 1
10 F65771 EZD-UPPER FRAME 1
11 Z10112A3 S-HHC 1/4-20X1 2
12 Z10043A7 NUT-NYL NE 1/4-20 2
13 Z84897A3 FTG STR 2700-4-4-LN 2
14 F51400 EZD-LATCH HOOK 1
15 F57153 FITTING BRKT ANGLE 1
16 Z20886A1 FTG TEE 6600-4-4-4 2
17 F61313A6 HOSE-24.00/613 2
18 F61324A5 HOSE-36.00/613 2
19 F61345A4 HOSE-84.00/613/682 2

12

EZ DUMP - FORK TRUCK ATTMT



FROM AUXILIARY VALVE ON FORK TRUCK

13

EZ DUMP - FORK TRUCK ATTMT



10.4
LOST LOAD

16.8
ATTACHMENT HORIZONTAL

CENTER OF GRAVITY

3.6
ATTACHMENT VERTICAL 

CENTER OF GRAVITY
28.3

LOAD HORIZONTAL 
CENTER OF GRAVITY

12.8
LOAD VERTICAL

CENTER OF GRAVITY

SHOWN WITH 
1/2 CUBIC YARD HOPPER
(2000 lb. LOAD EVENLY 
DISTRIBUTED AND NOT 

EXCEEDING TOP RIM OF 
HOPPER)

30.0
LOAD HORIZONTAL 
CENTER OF GRAVITY

19.84
LOAD VERTICAL 

CENTER OF GRAVITY

SHOWN WITH 
1 CUBIC YARD HOPPER

(2000 lb. LOAD 
EVENLY DISTRIBUTED 

AND NOT EXCEEDING 
TOP RIM OF HOPPER)

EZ DUMP ATTACHMENT ONLY

* WARNING - HORIZONTAL & VERTICAL LOAD CENTERS OF 
GRAVITY ARE APPROXIMATE AND BASED ON A UNIFORMLY 
LOADED HOPPER, NOT EXCEEDING THE HEIGHT OF THE HOPPER.  
YOUR ACTUAL LOAD CENTERS MAY VARY.

14

EZ DUMP - FORK TRUCK ATTMT






	Cover
	Drawing View13

	Notice
	Contents
	Safety 1
	Safety 2
	SDS
	Description
	Receiving
	SAFETY 3
	Maintenance
	Replacement
	F89815A5 MOD
	Drawing View6

	HYD SCHEM
	LOST LOAD CENTER
	Drawing View14
	Drawing View15
	Drawing View16

	Warranty
	Back

